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oopoooog
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3 mav s
16 11.3333 15.6667 18.3333 23.6667 25 17.6667 18

1.2 000 x.

O00000x00000000)00000000,00000000000000A0
gobbotbdde. jggbbodooooboboooooobooooobo,boogoooboo
goo

ma=:+/\0%0 [
ma_c=: 2&ma@ma ‘ ma @. (2&|@[) O NB.Centred O MA

0
a=.107.200
a,:(2 ma a),:2 ma_c a
17 4 9 7 12 14 18 13 0 6
10.5 6.5 8 9.5 13 16 15.5 6.5 3 O
8.5 7.25 8.75 11.25 14.5 15.75 11 4.75 0 0

13 00o0oooooooon
U0 mavOOoooooog,ggbbbogooboboooooobooaod

s2=: 7. 512 § 30
s2
3221315 6 1 20 20 28 11 15 24
1 11520 0 11 2 12 20 17 27 25
15 2 19 12 21 27 22 7 122 9 18
2229 10 7 29 21 2219 2 18 26 8
13 22 14 7 8 10 4 14 26 27 1 27

6.2 ": 3 mav "1 s2



12.67 16.67 11.33 7.33 9.00 13.67 22.67 19.67 18.00 16.67

5.67 12.00 11.67 10.33 4.33 8.33 11.33 16.33 21.33 23.00
12.00 11.00 17.33 20.00 23.33 18.67 10.00 10.00 10.67 16.33
20.33 15.33 15.33 19.00 24.00 20.67 14.33 13.00 15.33 17.33
16.33 14.33 9.67 8.33 7.33 9.33 14.67 22.33 18.00 18.33

14 12000000

mav=: +/\ % [
NB. Season adjustment using 12 month
mavl2=: [: 2&mav 12&mav

2<\ 12 mav i. 24
o o o o Fom o o o +
|5.5 6.5/6.5 7.5/7.5 8.5/8.5 9.5|9.5 10.5/10.5 11.5]11.5 12.5|12.5 13.5]
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mavl2 i. 24
67 8910 11 12 13 14 15 16 17
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1.6.1 Script




NB . ===

NB. mav any dimension

NB. ussage: x. plotcomb y. (x. dimension y. data)
NB. ===

p_sub®=: 4 : 0

NB. make mav anytime odd or even

mav=: +/\ % [

mav_even=:[: 2&mav mav

select. tmp® =:2 | x.
case. 0 = tmp® do. goto_odd.

case. 1 = tmp® do. goto_even.

end.

label_odd.
tmpl®=:x. mav y.
tmp2=:<. -: X.
return.

label_even.

tmpl®=: x. mav_even y.

tmp2=:>. -: X.

return.

)

p_subl=: 4 : 0

NB. make plot data by mav

X. p_sub® vy.

tmp30=: (tmp2 # tmp2) , tmp2 +i. # tmpl®
tmp3=:tmp30,tmp2 #({: tmp30®) NB. x axis
tmp4=:( tmp2 # {. tmpl®), tmplO®,tmp20=:tmp2 # {: tmpl® NB. y axis
tmp5=:tmp3; tmp4

)

plotcomb=: 4 : 0
NB. usage: x. plotcomb y.

NB. x. jisuu



NB.

pd
pd
pd
pd
pd
pd

y. data
‘reset’
X. p_subl y.
y.

’color red’
tmp5

’show’



2 00

o

difff=. 3 : ’-/CL:®) 2 <\ y.’

NB. take dfiierrence

O0000000000000000000000000000000000 infixdO
gobobooooon

21 00000

goboooooooogd
10 7. 10
82437510960

<\ 0O InfixOOOODOOODOOO 20000000000

2<\ 10 7. 10
e s aa S et =
|8 212 414 3|3 7|17 5|5 1|1 0|0 9|9 6|

et e s e e TR R e

ODoOo0ooobogooo

O-/ (L:0) 2<\ 10 7. 10
dotm -ttt -+
161_211]_41214]1]1_913|

Fot-—t—t-—d -ttt

plot > df 100 7. 100

NB.




0200

NB. diff and plot

NB. Usage: diff plot vy.
NB.
diff=:3 : "-/(L:®) 2<\ y.’
diff_plot=: 3 : 0

pd ’reset’

pd > diff y.

pd ’show’

)




3 Uuugooon

ooogog
o000 rw=: 3 : +/\ (?2vy. $2) {_11

OO0 1000000000000 0OO000DOOoO00oDooOO0U0UDOoOOUoDoogooDog
CReter U0 DDD0,000000000O0O0O0ODODODDDOOODOOOOOOO
plot +/\ _1 1 {" 7. 300 $ 2

31 0O00OOO

7. 10 § 2
01010011180

. 1082 {_11
~11_.11_1_.1111°_.1

<\ (?. 10 $ 2) { _1 1 NB. prefix

[.1f-1 111111 _11]_11_11_1]_11_11_1_1/]_11_11_1_11]

s st T e Fommm ommm o Fommm e +

+/\ (7. 108 2) {_11

_10_10_1_2_1010



0 3: A Random walk with Steps 1 or 1

311 OO0O0O

randunif ( array of psuedo-random real numbers)
O0000000000 2000 x. 000000000000 OOO0O

randunif=: (?%<:)@:($&2147483647) : ( {. e[+({:-{.He[*$:@])
rw2=: +/\ _1 1 randunif 300
NB. plot rw2

randunif 2 3

0.455961 0.341605 0.354983
0.19473 0.83141 0.507221

200 x. 00goooooaon

_1 2 randunif 2 3

1.5792 0.54126 0.955131
_0.108855 0.471075 0.363747
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O 4: A Random walk rw?2

312 O0O0ODOO0OOOOOOO

gobooooobo,oooooboa,bboooobooboo,goboobo,oobooboad
gobobooobobtboooobo,bogobbbooo,bobboooobbbooooo
gobodoo, bbb bboooobbboo@ooobboouoobo

goooooo,bbbobooo,ogouoooobobbobooooo,goobboobn,d
gooobooobbo, oL, bbbbbbbdd0Uoo,ooobbo
gdooobbbbodoouobbboooooobb bbb booooobo
goo

gooouobobobo,dgguobobbb,doouoobbbbbbooooooboon
O0,000000000D000D0 FODODOODOODODOODO

3.2 Script

NB. from Cliford A. Reiter :Fractal Visualization and ] (2000)
rw=: +/\ _1 1{ "? 300 $ 2

NB. plot rw
randunif=: (?%<:)@:($&2147483647) : ( {. @[+({:-{.)ae[*$:@])
rw2=: +/\ _1 1 randunif 300

11



NB. plot rw2

NB. Apply to any number ,Arrenged by M.Shimura
rw=: 3 : ’+/\ (C?2vy. $2) {_11'0O
rw2=: 3 : ’+/\ _1 1 randunif y.’

3.3 UOono

Cliford A. Reiter :Fractal Visualization and J (2000)
000000000000 000O0o0ooooooog (2001)

12



4 0OQ0O0O0

4.1 00000 ACF(k) autocorreration function

ACF(K)

411 00O
= (Y=Y (Yik - Y)
— Z?:1(Yt_Y)2
ACFOO YODOODODOOOODOOPaersonOODOODOODOODODODODOOODO
Oad.
0000000 X()Ooooo,000000000000000 Cov[X(ty), X(tx)] O
00 4,tLO00ODO00O0O00O0,00000r=1-,00000000
OO00DoDO0O0o0,000000b0do0bdoo0ooDoooDooDoCooooooog,
OO0DO00ooooooooog

ACF(K) =

412 0O0OO0OO

3684438

Cl=: (<\.v.) ,. |l.ek\Vy.

0000000 Yy, Yeer, Yoo, Yes... 0000000
000000000,000000000000000

e it Fommm - +
|36 8448|3684 4 8|

Fomm - Fommmmm - +

|16 8448 [|363844 |
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Fomm - Fommmmmm - +

|8 4 4 8 |3 6 8 4 |
e ittt e ettt +
|4 4 8 |3 6 8 |
e ittt e ettt +
|4 8 |3 6 |
e i fommm - +
|8 I3 I
e ettt e ettt +
mean ] y. [
5.5

C30 NB. O dev Cl - (L:0) mean y.

e e e T T e o +
[_2.5 0.5 2.5 _1.5 _1.5 2.5[|_2.5 0.5 2.5 _1.5 _1.5 2.5|
o o +
0.5 2.5 _1.5 _1.5 2.5 [_2.5 0.5 2.5 _1.5 _1.5 |
o o +
[2.5 _1.5 _1.5 2.5 |_2.5 0.5 2.5 _1.5 |
e e e T T e o +
[_1.5 _1.5 2.5 [_2.5 0.5 2.5 |
o o +
[_1.5 2.5 |_2.5 0.5 |
o o +
[2.5 |_2.5 |
o o +

4 =:+/"1%*/ "1 >C3
23.5 _5.25 _14.5 9.25 5 _6.25

14



acf2 a

1 _0.223404 _0.617021 0.393617 0.212766 _0.265957

4.1.3 SCRIPT

acf2=: 3 : 0

NB. ACF autocorellation coefficients (many times at once)

Cl=: ( <\. v.) ,. [|.@k\y.

C2=: (mean=. +/ % #) y.

C3=: Cl - L:0 C2

C4=: +/ "1 */ "2 >C3

NB. C5=:> +/ L:® "&2 L:0 {. "1 C3
C4 % (+/ "& >{. {. C3)

)

414 OO

Stephen A. Del urgio [Forcasting Principles and Applications] McCGRAW-HILL 1998

4.2 C.A. Reiter

acov=: ([: +/ [ (C -@[
NB. r(t)
acor=: ( acov % 0: acov
NB. p(t)

oD oFr) (- (+/ % #))a@] ) % #@]

D "ol

15




421 00O

Script written by Criford A.Reiter [acor] is same as ACF
. 1 1. R U
() = T T (Kt+ i = X)(Xi = X)
_ Rs(s)
NG

422 0O00O0O0OO

2 acor a
_0.617021

3 acor a
0.393617

acf2 a
1 _0.223404 _0.617021 0.393617 0.212766 _0.265957

4.3 [0 Pearsons autocorrelation coefficient

PACF(K)

431 OO

COV(Yt, Yik)

MY =
. Svt, Syt-k

432 0O00O0O0OO

a=:368448

16



0000 Cov(Y:Yik)

C3=: (+/ "1 */ "2 > dev L:® C1) % n=:> {. "1 <:@# L:0 C1
23.5 _4 _14 9.33333 6 ®

SviSvik0 O Y, O Yk OOOOO

pacf a
1 _0.25 _0.911322 0.802955 1 0

4.3.3 Script

pacf=: 3 : 0

NB. Pearsons autocorellations (many times at once)
Cl=: ( <\. v.) ,. [|.@k\y.

dev=. - (+/ % #)

NB. Cov(Yt Yt-k)
C3=: (C2=:+/ "1 */ "2 > dev L:® C1) % n=:> {. "1 <:@# L:0 C1
NB. Syt Syt-k

C4=: +/ L:0 *: L:0 dev L:0 C1

C5=:*/ "1 > %: L:® C4 % L:0 n2=:<:@# L:0 C1
C3 % C5

)

434 00O

Stephen A. Del urgio [Forcasting Principles and Applications] MCGRAW-HILL 1998
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5 Autoregression 00 00O

ARO Autoregression) D O OO0 0O YueWdker O, 0000,000000000000

5.1 Yule-Walker O

Cvam = Cm
oK) = ¢ S XK+ N

(k=0,1,2,...M)
c(0) c(1) . ¢c(M=2) c(M-1)
c(1) c(0) c(1) . c(M -2
Oy P
c(M -2) . c(2) c(0) c(2)
c(M-1) c(M-2) ... c(1) c(0)

cm = (c(2), c(2), ...c(M))T
00000 ACRKk\ODOOO CywODOOoOo,000D000oonoooooooooon
O000000,00 AROCOOO0OO0OO0DDOO0ODmMOoDO000oDOo0ooooooooom

511 0OO0O0O0O0O

acf2 a
1 _0.223404 _0.617021 0.393617 0.212766 _0.265957

ACFR)U ooDOoDUoouoo CwbhOO,evDOOOODOOO

Y4
1 _0.223404 _0.617021 _0.223404
_0.223404 1 _0.223404 _0.617021
_0.617021 _0.223404 1 0.393617

18



0000000000 0000000000 cr=: %.}:"1 NB. Cramer Method

3 yw a
1 _8.88178e_16 6.66134e_16 _0.37704
_2.22045e_16 1 4.44089e_16 _0.70024
_6.66134e_16 _8.32667e_16 1 0.00453847

X(t) = —0.37704x(t — 1) — 0.70024x(t — 2) + 0.00453847x(t — 3)

5.1.2 Script

cmtest=:4 : 0
NB. Yule- Walker sub
NB. make C(m) Matrix
NB. for univariate AR
Ti=: (|.}. M) , M=: vy.
T2=: x. # ,: T1
T3=: ({. TMP), <: 1{ TMP=: § T2
T4=:(-x.) {. ("1) TMP2=: T3 § , T2
)

yw=:4 : O

NB. Yule Walker(Univariate)

NB. Data type is Yoko list

NB. X(t)=X1(t-1)+ X2(t-2) + X3(t-3)......
NB. Usage: x. jisuu // y. Data

Yi=: acf2 y.

Y2=:>: x.) {. Y1

Y3=:}. ¢G: x.) {. Y1

Y4=: (x. cmtest Y2),. Y3

19



Y5=: (cr=: %.}:"1) Y4
)

5.1.3 AIC

29 aictest corn
68.6085

29 plot_ar corn

O 5: A Random walk with Steps 1 or 1

NB. AR 1]JI

) I A A A A R R A A A

aictest=: 4 : 0

NB. find AIC value

NB. Usage: x. aictest y. // x. is jisuu // y. is data

: dev vy.

A®=:}: A00=:x. <\ y NB.

Al=: {:"1 x. yw y NB. tmp is reg

A2=: (tmpO®=:|."1 >A0) +/ . * A1l NB. (|."1 ) is rotate A0
A3=: (tmpl=:(x. }. y)) - A2 NB.

<
1]

20



Ad=:(tmp2=: +/ *: A3) % n=: (# A3) - x. NB. tmp2 is Q
AS5=:(n * ~. Ad)++:Xx.
)

514 0OO0OOO

000000,00000000000000 x(t-4)x(t-3xt-2x(t-1)00000
0,000,000,AMO00O000000,10000000000

|."1 > 4 <\ a=. >: 1. 12

4 3 211|5
5 4 216
6 5 4317
7 6 541 8
8 7 6519
9 8 76| 10
10 9 87 | 11
11 106 9 8 | 12
12 11 10 9 | x
29 pred corn
20.0508

plot_ar =: 4 : ©
NB. plotAR

X. aictest y.

pd ’reset’

pd ’color green’
pd dev y.

pd ’color red’
pd (x. # 0),A2
pd ’show’

21



pred=: 4 : 0

NB. prediction AR

NB. Usage: x. pred y.
X. aictest y.

AOO=: (+/ % #) vy.

Al10=:]. {: > AQO
All=: A10 +/ . * Al
Al2=: A09 + All

)

515 0000

000000000 ARODDDODOOO0ODO0ODO0OODOODOOOO0OODOODbOObOOOOo
HEN
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6 Uuoooooooon

goooobobooboboboboboobobobooboobobootoo, oo ooooa
0000000000000 0O0bOJ00oo0bD0o0ooOboo0DOOO0ooObOoOoDoDboOooDO
goboodoo, bbb boooobbbooo0obbooUbL,booOoo

6.1 OO0

[00] O
00 Ko = Col

1

Ko = V—(Cz - K1C1)
1

Ko = Ky — KoKy
regz = Koy + Kop)
Vo = Vi(1 - (Kz)?)
[30]

1 Ko@) C2
Kam) = —(Cs - Z(

Vs K22 C1
Kz = Ko — Kz Koz
K3 = Kap) = Kag Ko
regs = K + Kz + Ka)
V3 = Va(1 - (Kzm)?)

[40]
1 KapCs
K4(4) = V_4(C4 - Z( K3(2)C2 ))
Kz C1

Kar) = Ka) — KagKs()
Ka) = Kap) = Kag Kz
Kaa) = Kaz) = Kaa Kaq)
regs = Kaq) + Ka@) + Kagg) + Kaga)

23



Vs = Va(1 - (Kgg)?)

C
9.33354 7.87931 4.50071 0.512286 _2.90688 _4.87683 _5.10031 _3.82648

5 levin C
0 0 0 0 ® 9.33354
0.844193 0 0 0 ® 2.68189
1.52126 _0.802026 0 0 ® 0.956775
1.50865 _0.778118 _0.0157164 0 ® 0.956538
1.50777 _0.821906 0.0691834 _0.0562752 ® 0.953509

1.51126 _0.826198 0.120175 _0.149817 0.0620402 0.949839

000000 «?000000,00000,00.000=x)00000000000

6.1.1 ODOOO

0000000000000 00000000D00000OD)]000000000
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6.2 Householder O

oooo aegh[00D0OO0ODOO] m aregb n
Autoregression aeg[D 000000 O0OAICOOO | maregn
000] mO 0
n Data

00000000000 ARO ARMAOOOOOUODOOOOOODOOODOOOD
g,0boogoon

3 aregc tmp3
750.25 0.946196 341.705 1.37654 _0.236394 _0.221991

gbob 0Dodgg AICO oodnd

Yule-Walker OO O QOO

3 yw tmp3
1 _1.01918e_13 _1.01252e_13 1.09991
1.84741e_13 1 2.22045e_13 0.0260682
_1.05693e_13 _1.24345e_13 1 _0.238416

Householder f(x)= 1.37654Xt-1 _0.236394Xt-2 _0.221991Xt-3
Yule-Walker f(x)=1.09991Xt-1 + 0.0260682Xt-2 -0.238416Xt-3

NB. n=48 monthly values of a Common Stock Price
NB. [0 data from DeLurgio [l SERIESB.DAT

25



6.2.1 Script

NB . ===

NB. Auto Regression by G. suzuki

NB - ===

adep=:[}.]1-(+/%#)@]

aindep=: 4 : 0
[:(0,<:x.)}.((x.),<:#y.)8y.-(+/%#)y.
)

aregb=:([adep])%. [aindep]
aregc=: 4 : 0

y=:(k=:x.)}.t=:y. - m=:(+/%#)y.
x=:]:(00,<:k)}.(k,<:n=:#t)$t
q=:+/*:y-x+/ . * b=:y%.X
c=:1-q%+/%:y-(+/%#)y
m,c,((n*".q%n=:n-k)++:k),b

NB. ave r2 AIC ar

)

26



/7 U0O00ogoiondARMA

00000 ARMAOOOOOOOOO

NB - ===

NB. ARMA
NB. script written by Suzuki , 30 Sept. 2000
NB - ===

mav=: (([:+/[+/\"_1(}:,:}.0@])%2:%[) * (+/\%[)@. (2: | D
sac=: 3 : 0

NB. Seasonal Adjustment Coefficient

y=. (+/12+/\"_1(}:,:}.)y.)%24 NB. moving average
(+/%#) ((<:(#y.)%12),12)$(6}. _6 }.y.) %y

)

aregm=: 4 : 0
NB. autoregressive model
b=. (p=. x.}.t)%.q=.}: x. I\t=.y.-m=. (+/%#)y.

c=.1-(r=.+/*:p-q+/ . * b)%+/*:p
m,c, (CC#L)* . r%#p)++:x.),b
)

trend=: 4 : O
b=. x. (}.%.[: }: 1\Dt=. y-m=.(+/%#)y=.}.y.
't t'=. 75 0¢x){.t
while. (#r)<{.y.
do. r=. r, mq [t=. (}. ©),q=.+/b*t
end.

)

27



predict=: 4 : 0

NB. prediction by ARMA MODEL
z=.(+/12+/\"_1(G: ,: }D)y=.}. yv.) % 24
(/%) ((<: (#y)%12),12)$(63. _6}. y)%z
(k$s)*x. trend (k=. {. y.),z

)

S
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8 O0O0OOOOO Cross-Correlation Coefficience

8.1 CCF(k) crosscorreration function
Z (Y = Xk = X)
\/ztﬂzl(vt — Y)25D (% — X)2

CCF(K) =

ooo, 1
COVy(K) = - TVt = V)X = X), k> 0

1 — —
COVig(K) = = Ty 4 Yk = V(% = X). k = 0
COVyy(K)

CCF(K) = ==
xOy

W ¥ i :
L | [ | |

0 6: Cross-Correlation NY-LONDON Stock price

ny(k) = ?’xy(k)/ \/7xx(0)7yy(0)

Yy(=K) = E[(X¢ — ) (Ve — pty)]

8.2

gooon

29



8.21 OO

gobbooodobooboooobobuooobobbooobobobuooooboboooon

0000000000000 OoOU plot0D00O0OOO0OOOOO

IBMOO NY London 000000000 OOODOOOOODOODOOO

NY
38.
38.
39.
39.
40.
39.
39.
39.

39
39.

-5

Cross Correlations between NY & London IBM Stock Prices

625
879
125
375
063
375
438
625
.25
063

London
56.5
57.625
59
59.5
58.5
58.875
59.25
58.625
58.125
58.75

ccf q

0.580839

0|0 _0.0553644 _0.266541 _0.242612

|9.455316 0.580839|0.165699 0.691107|0.00810851

ccf2 dat

0.691107 0.259779 _0.257538 _0.404517
0.0788315 0.136927

0.2597791_0.0459359 _0.257538|

|0.580839 2.19628|0.148197 0.660269|_0.0206628 _0.518274| _0.173093 _0.305578|

30



Fommmmmmm oo Fommmmmmm - e e e e LT e it e e
NY OOD0O0O LN -k
INO+kO LNOODOODO

8.2.2 Script

ccf=: 3 : 0

NB. CCF (2 variate )

dev=: -"1 (mean=: +/ % #)

CO=: mean vy.

Cl=: ( <\. 0{"L y.) ,. [|.@(\) 1{"1y.

C2=:((0{"1 C1) - (L:0) 0{CO),.((1{"1 CD - (L:0) 1{CO®)
NB.Cov xy

Ca=: ( +/ "1 */ "2 >C2) % # vy.

NB. Sx * Sy (use dev)

NB. C5=:*/"1 > %: L:0 tmp_0=: ([: +/ "&2) L:0 Cl1 % L:0 (#L:0CD
C5=: */ %: (([: +/ "&2) dev y.) % # y. NB. (devide by n type)

NB. C5=: %: +/ */ "1 y.

C4 % C5
)
ccf2=: 3 : 0

NB. Correlation coefficience (multi variate )
NB. divide Sxx Syy
NB. Usage: ccf2 n (data matrix is tate type)

C2=: (dev=: - "1 +/ % #) y.
Cl=: (]. <\ (C2) ,: <&|: \. (2
C4=:(1{CD) +/ . * (L:0) 0{C1

NB. C5=:*/ %: ( +/ "&2y.) % #y.
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C5=:*/ %: ( +/ "&2 C2) % N=: # y. NB. each SD
(C4 %L:0N) %L:0C5NB. Cov / SD
)

ccf3=: 3 : 0

NB.Covariance coefficient (multi variate )

NB. divide only by n

NB. Usage: ccf3 n (data matrix is longitude type)

C2=: (dev=: - "1 +/ % #) y.

Cl=: (]. <\ (C2) ,: <&|: \. (2
C4=:(1{C1) +/ . * (L:0) 0{C1

C4 % L:0 O{# vy.

)
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9 UUUUodolbUVvAR

0000 (Autoregression) D 0 0000000000000 OODOOOO,00000
gobooodoobboooobbbouoooboo

9.03 00O0OOOOOOOO Yule-Walker Method

1
CM) = % E Ny XXM = )
CmoODoDDDDoDO0O0O0O0ooO kxkoooO
YueWdker 0O OO0O0OO0ODODOOOOO

C(0) C(-1) .. Ca-M)1AQ C@)
C(-1 o{(0)] ... C2-M)||A?2 _ C(2
C(i: M) C2-M) ... o{(0)] A.(.I\)I) C‘(.I\./I)
9.04 OOOOO
dat=: ?. 10 2 § 20
oooooooooon
ccf3 dat
o Fmm - o - o o +
[34.61

1114.631 _9.57|_2.128 _3.11]|_0.137 _1.53]_10.116 11.81]
| 11 27.2|_2.28 _15.5| 3.39

5.2| _4.74 _8.7]| 4.64 8|
R Fom - R R o - +
Yule-Walker O Matrix O OO
3 mgmain dat
g o e e +

|34.61 11 [4.631 _9.57[_2.128 _3.11[4.631 _9.57 |

| 11 27.2 |_2.28 _15.5| 3.39 5.2]_2.28 _15.5 |

Fommm o Fommm o Fommm - Fommm - +
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|4.631 _9.57 |34.61 11 [4.631 _9.57 [_2.128 _3.11]|

[_2.28 _15.5 | 11 27.2 |_2.28 _15.5 | 3.39 5.2|
Fommm o Fommm o Fommm o Fommm e +
[_2.128 _3.11]4.631 _9.57[|34.61 11 [_0.137 _1.53]|
| 3.39 5.2]_2.28 _15.5] 11 27.2 | _4.74 _8.7]|
Fommm o Fommm o Fommm o Fommm e +

905 000O0ODOODOOODOODOLevinson Algolism

JOOODO0OOO0OO0O0oO0o0O00o0ooo0o0oO0o0oooooooooooooooooooo
0000 YueWdkee OOOUOUOUOUOUOO,0000000000000ooooooog
Oo0000oooooooooooooooooooo,oooooooooooooon
ooooao

(DooDOoOooO (m=0)

Wo = Z = C(0)

AIC(0) = Nlog/Wp|

@oO0DO0D00o0ooooo0 (m=1,2,...,M)

E(m) = C(m) - 23" Ana()C(m - 1)

An(m) = E(MZL,

Bm(m) = E(m)"W.1,

An(i) = An-1(1) = An(M)Bp-1(m—1i),(i=1,...,m-1)
Bn(i) = Bm-1(i) = Bn(MAm-2(m—i),(i=1,....,m-1)

Wiy = C(0) = ), An(i)C()"
i=1
Z;m = C(0) - Zml Bm(i)C(i)
n=1
AIC(m) = NIog|Wiy| + 2mk?
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906 DOOOO

[00]

Wo = Z = C(0)

[10]

E(1) = C(1)

Al(1) = E()Z;"

By(1) = E(1)TW;?

W, = C(0) - A()C(D)”
V1 = C(0) - Bi(1)C(D)
[20]

E(2) = C(2) - Al(DC(2)
A2 = EQ)Z;

B2(2) = E(QQTW;*!

Ax(1) = Au(1) — Ax(2)B4(2)
B2(1) = B1(1) — B2(2)Aq(1)

Ax(1)C(L)T
W; = C(0) - Z (AE(Z)C(Z)T)

B,(1)C(1)
V2=CO)- ), (82(2)6(2))

A (1)C(2)
E@) =C@) -, (AE(Z)C(l))

[30]

As(3) = EQ)Z*
Ba(3) = EQQ)™W;*

(As(l) = Ax(1) - A3(3)|32(2))
As(2) = Ax(2) - As(3)B2(1)

(53(1) = Bx(1) - 53(3)A2(2))
B3(2) = B2(2) — B3(3)A2(1)

Ag(L)C(D)T
Ws = C(0) - ) (As(Z)C(Z)T)
As(3)C(d)"
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Vs=235=C(0) - )| Bs(2)C(2)

B3(3)C(3)

Bs(l)C(l)]

[O00O]

As(2)C(2)

"=co-2[h (3)c(1)
3

As(l)C(S)]

As(4) = E(AZ;1

B4(4) = ET(4)TW;*

Aq(1) = As(1) - A4(4)B3(3)
Aq(2) = A3(2) - Au(4)B3(2)
Aq(3) = As(3) — A4(4)Bs(1)
B4(1) = B3(1) — Ba(4)As(3)
B4(2) = B3(2) — Ba(4)A3(2)
B4(3) = B3(3) — Ba(4)As(1)

A4(1)C(1)T]

As(2)C(2)"
As(3)C(3)"
As(4)CAHT

B4(1)C(1)]

W, = C(0) - Z

B4(2)C(2)
B4(3)C(3)
B4(4)C(4)

Va=2=C(0) - )

91 TIMSACOODDODOO

0000000000000 00ooO TIMSACOODOOoooooTIMSACOODO
0000000000000 00000000 0 n=500)

adat2
713 5508 652
709 5511 650
709 5509 686
710 5506 697
712 5503 701
714 5502 706
716 5500 709
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716 5499 710
718 5499 710
720 5496 708
721 5491 713
724 5490 714
726 5485 714
728 5484 735
730 5482 736

On=0 500)

oooooog

8.5 ": L:0 ccf2 adat2
e et e T e P B T ittt R et it +
| 0.01343 0.00407 0.01425| 0.01325 0.00395 0.01387| 0.01284 0.00384 0.01342|
| 0.00407 0.02163 0.00098| 0.00422 0.02145 0.00057| 0.00438 0.02120 0.00112|
| 0.01425 0.00098 0.10175| 0.01449 0.00161 0.06427| 0.01432 0.00189 0.00243|

o o it ittt e e L +.o..

0

O 40 varmain O ccf2 0 adat2

o e e e +
| 1.68205_0.00067 0.00241|_0.75117 0.01197_0.00056| 0.07704_0.00961 0.00140|
[_0.02651 1.09003_0.00637| 0.01613 0.01840 0.00937| 0.03608 0.03156 0.00262|
| ©.57314_0.19702 0.91130| 0.01740 0.12938_0.51502| 0.82392_0.55123_0.22514|
e e e +
| 1.66845_0.02353 0.00439|_0.73853 0.01990_0.00389| 0.08229 0.02055 0.00249|
|_0.04814 1.11082 0.01118| 0.06069 0.00909 0.00293|_0.03334 0.02255_0.00886|
| 1.33946_0.86264 0.90411]|_0.78035 0.12683_0.50662|_0.08226_0.00679_0.21875|
e e e +
| 0.00018 0.00000_0.00005| 0.00018_0.00001 0.00011| |
| 0.00000 0.00032 0.00001|_0.00001 0.00033 0.00017| |

(=]
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|_0.00005 0.00001 0.02935| 0.00011 0.00017 0.02905]| |

o e i BT e e it ettt e T +

U000 AmmOdQ0O000O00
U0l Bmm0O 300000
ggowo v

40000000000O00O0bDOD

4 reg_v3 adat2

1435.04 10973.7 1449.99
1424.5 10964.7 1449.02
1429.35 10964.4 1448.25
1468.2 10962.9 1447.96
1383.21 10972.4 1440.14
1389.19 10975.8 1437.75
1359.61 10973.5 1434.74
1412.03 10970.3 1435.39

1427.85 10967.2 1436.14
1431.04 10966 1441.6
1437.29 10964.2 1439.65
1441.7 10963.8 1441.8
1442.97 10963.8 1444.66
1444.9 10960.9 1442.98

(n=495)

911 0OOOO

O00000000000000£0000O0D0O00DOOOODDOO 1998
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idim

07000000000

Al

08000000000

AP

1
e P o S

09 00o0oooooo
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